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Figure S3 Measurements of the width of the SC by SIM. (A—B) Measurement of the width between C-terminal
epitopes of C(3)G. In areas where the SC remained in the same x-y plane for an extended period, a line profile was
generated and fit to two Gaussians. Error bar indicated the standard error in the mean. (B) A box and whisker plot
showing the distance between C(3)G epitopes. The small box represents the standard error, the remaining line
represents the median, and the whiskers represent standard deviation.
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